Where could you be located if you are 7 units from

zero? ) You could be 7 units
\»ﬁ% to the right
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You could also be 7 units to the left.

Absolute Value: Distance from zero on a number line.
x| =13

Where are you on a number line if you
are exactly 13 units from zero?
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You could be 13 units to the left of zero (-13)
or 13 units to the right of zero (+13)
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Section 3-6:  Absolute Value Equations

What are possible values for x that make this
statement true?

X =13

because [-13| and |13] both
equal 13:
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Solve. |x|=9

x is exactly 9 units from zero
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x=-9 or x=9



Solve. |x+2|=5
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X + 2 is exactly 5 units from zero:

I B L e o o S e I B
109 8-7 6 54324901 23 4 56 7 89 10
x+2=-5 or Xx+2=5

S - —Z
X=-7 X=>
X—_ ~Tov 3
What are possible values for x that make this
statement true?
k—-3|=6
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X= 9 X—’V))
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Solve. |x+2|=5
I5/=5 or |-5]=5
X+2=0 o A42 =—5
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Solve. [x-2]+7=15
-1 -7
|><-7—\ —_%
el=% or |8\=¢
l |
x-2="% -7=8
7 +2Z r o 2

Solve. -3| 8x |= -30

Solve. [x-5]+18=8

] X Sl = T the absolute value can't
give -10 as an answer.
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Solve. 4/ x+3|-9=23
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Solve. 2|x+1]-10=6
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Solve. 6]2.5x | =30



